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1. Write all the factors of

128

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_shht5yjMP6Ui
https://dl.doubtnut.com/l/_Bzdg21CaN1GB

2. Write all the factors of

54

° Watch Video Solution

3. Write first five multiples of:

32

° Watch Video Solution

4. Write first five multiples of:

23

° Watch Video Solution



https://dl.doubtnut.com/l/_Bzdg21CaN1GB
https://dl.doubtnut.com/l/_bVi0qTjMseEt
https://dl.doubtnut.com/l/_IAGpYAV8e0AN

5. Write all the multiples of each of the following less
than or equal to 60.

12

° Watch Video Solution

6. Write all the multiples of each of the following less
than or equal to 60.

8

° Watch Video Solution



https://dl.doubtnut.com/l/_EhQgU5gA2SIj
https://dl.doubtnut.com/l/_P3KTQwbjRaPB

7. Write all the multiples of each of the following less
than or equal to 60.

27

° Watch Video Solution

8. Select the odd and even numbers from the following

96342, 186481, 639123, 257770, 46819, 315768

° Watch Video Solution

9. Which of the following are prime numbers?

96, 23, 41, 65, 91,10, 31, 71, 43.



https://dl.doubtnut.com/l/_VTtP7fhzAWir
https://dl.doubtnut.com/l/_iKSC2njmcRJs
https://dl.doubtnut.com/l/_LH06yXnJ7p4w

l o Watch Video Solution

10. Find the common factors of 48 and 72.

° Watch Video Solution

11. Find the first four common multiples of 5 and 15.

° Watch Video Solution

12. Which of the following numbers are divisible by 67

936452

° Watch Video Solution



https://dl.doubtnut.com/l/_LH06yXnJ7p4w
https://dl.doubtnut.com/l/_j3tVQhyWSLak
https://dl.doubtnut.com/l/_8acfyiKN07Jt
https://dl.doubtnut.com/l/_JxZl1MVofSGY

13. Which of the following numbers are divisible by 67

3640152

° Watch Video Solution

14. Which of the following numbers are divisible by 6?

482649

° Watch Video Solution

15. Which of the following numbers are divisible by 6?

93428917

| =


https://dl.doubtnut.com/l/_JxZl1MVofSGY
https://dl.doubtnut.com/l/_f5H4QFuo6S9q
https://dl.doubtnut.com/l/_1OQ8kWjiTzlk
https://dl.doubtnut.com/l/_42U4vqd7Fdqt

l & Watch Video Solution

16. Which of the following numbers are divisible by 67

4286160

° Watch Video Solution

17. Which of the following numbers are divisible by 117

9050602

° Watch Video Solution



https://dl.doubtnut.com/l/_42U4vqd7Fdqt
https://dl.doubtnut.com/l/_viApyiw0Cv1l
https://dl.doubtnut.com/l/_T1xC3gGnMo8F

18. Which of the following numbers are divisible by 11?

1052524

o Watch Video Solution

19. Which of the following numbers are divisible by 11?

1105645

° Watch Video Solution

20. Which of the following numbers are divisible by 11?

7680794

° Watch Video Solution



https://dl.doubtnut.com/l/_ogc0u0OSchBK
https://dl.doubtnut.com/l/_vjOSQvg8neUd
https://dl.doubtnut.com/l/_fzrxJmbXXVA3

21. Which of the following numbers are divisible by 11?

23505

° Watch Video Solution

22. Which of the following numbers are divisible by 5
and by 10?

198645

° Watch Video Solution



https://dl.doubtnut.com/l/_fzrxJmbXXVA3
https://dl.doubtnut.com/l/_vBabpCpNQuLb
https://dl.doubtnut.com/l/_qA8E1VBP6EG8

23. Which of the following numbers are divisible by 5
and by 10?

384050

° Watch Video Solution

24. Which of the following numbers are divisible by 5
and by 10?

196450

° Watch Video Solution



https://dl.doubtnut.com/l/_C7dN6decJnMl
https://dl.doubtnut.com/l/_lnEBwDy8Aeyl

25. Which of the following numbers are divisible by 5
and by 10?

1386425

° Watch Video Solution

26. Which of the following numbers are divisible by 5
and by 10?

432190

° Watch Video Solution



https://dl.doubtnut.com/l/_Y8IfnE0vyabA
https://dl.doubtnut.com/l/_wie5DMyJJt2V

27. Which of the following numbers are divisible by 4
and by 8?

78636

° Watch Video Solution

28. Which of the following numbers are divisible by 4
and by 8?

7721848

° Watch Video Solution



https://dl.doubtnut.com/l/_aNEeGwyq1CpZ
https://dl.doubtnut.com/l/_XCKqpbRQmDLz

29. Which of the following numbers are divisible by 4
or by 8?

370264

° Watch Video Solution

30. Which of the following numbers are divisible by 4
and by 8?

1463356

° Watch Video Solution



https://dl.doubtnut.com/l/_ZVl79B8AzZdC
https://dl.doubtnut.com/l/_RNlKIFQoVg8m

31. Which of the following numbers are divisible by 4
and by 8?

444184

° Watch Video Solution

32. Using short division method, prime factorise the
following :

198

° Watch Video Solution



https://dl.doubtnut.com/l/_QlWE3Cmywnog
https://dl.doubtnut.com/l/_rBqkRiZQqCb6

33. Using short division method, prime factorise the
following :

264

° Watch Video Solution

34. Using factor tree, prime factorise the following:

92

° Watch Video Solution

35. Using factor tree, prime factorise the following:

36



https://dl.doubtnut.com/l/_TMhXB6jyueph
https://dl.doubtnut.com/l/_HRKDSTsB8ZOt
https://dl.doubtnut.com/l/_81tCWDlRk1ri

l o Watch Video Solution J

36. Find the HCF of 120, 180 and 250 by prime

factorisation method.

° Watch Video Solution

37. Find the HCF of 144 and 196 by using long division

method.

° Watch Video Solution



https://dl.doubtnut.com/l/_81tCWDlRk1ri
https://dl.doubtnut.com/l/_p0pRGkYJrhdb
https://dl.doubtnut.com/l/_r12i10SfAFX4

38. Find the HCF of 224, 252 and 84 by long division

method

o Watch Video Solution

39. Find the HCF of 42, 84 and 24 by common division

method.

° Watch Video Solution

40.Find the LCM of 128 and 208 by prime factorisation

method

0 Watch Video Solution



https://dl.doubtnut.com/l/_FnskXENtd0B9
https://dl.doubtnut.com/l/_hhwMyWyuBAMb
https://dl.doubtnut.com/l/_zf5HCxSoO5Fx

41. Find the LCM of 125, 350 and 245 by common

division method.

° Watch Video Solution

42. The length, breadth and height of a room are 6 m
25 cm, 8 m 75 cm and 5 m 50 cm, respectively,
Determine the longest rod which can measure the

three dimensions of the room exactly.

° Watch Video Solution



https://dl.doubtnut.com/l/_zf5HCxSoO5Fx
https://dl.doubtnut.com/l/_9DQEQncTTYM1
https://dl.doubtnut.com/l/_WYYq23IwegOl

43. Find the least number that must be added to 1000

so that the sum is exactly divisible by 16, 64 and 256.

° Watch Video Solution

Solved Examples

1. Write all the factors of:

124

° Watch Video Solution



https://dl.doubtnut.com/l/_XzdXve3pRwDG
https://dl.doubtnut.com/l/_OO1aPMDnwDY3

2. Write all the factors of:

360

o Watch Video Solution

3. Write all the factors of:

96

° Watch Video Solution

4. Find the HCF of each of the following by common
division method.

24,96, 108



https://dl.doubtnut.com/l/_qPiQPwreOX86
https://dl.doubtnut.com/l/_ekOSZ4rhguua
https://dl.doubtnut.com/l/_DVd5e1mqckdu

l o Watch Video Solution J

5. Find the HCF of each of the following by common
division method.

216, 315,180

o Watch Video Solution

6. Find the HCF of each of the following by common
division method.

140, 210

° Watch Video Solution



https://dl.doubtnut.com/l/_DVd5e1mqckdu
https://dl.doubtnut.com/l/_atYsYz1kFNUe
https://dl.doubtnut.com/l/_dd6akcoW0TbJ
https://dl.doubtnut.com/l/_oot7KZ95LkL5

7. Three persons started together for their morning
walk. Their steps measure 15 cm, 25 cm and 30 cm
respectively. What is the minimum distance each
should walk so that all can cover the same distance in

complete steps?

° Watch Video Solution

8. Find the common factors of:

30, 60, 80

o Watch Video Solution



https://dl.doubtnut.com/l/_oot7KZ95LkL5
https://dl.doubtnut.com/l/_Kk2gTNE4kjxe

9. Find the common factors of:

24, 36,48

o Watch Video Solution

10. Find the common factors of:

20,46, 62

O Watch Video Solution

11. Three brands A, B and C of biscuits are available in
packets of 12, 15 and 21 biscuits respectively. If a

shopkeeper wants to buy an equal number of biscuits,


https://dl.doubtnut.com/l/_KbBB4dYyGbU2
https://dl.doubtnut.com/l/_Tu8YbgcFkt0W
https://dl.doubtnut.com/l/_a0DFH0jF6J4d

of each brand, what is the minimum number of packets

of each brand, he should buy?

° Watch Video Solution

12. Write the first five multiples of

148

° Watch Video Solution

13. Write the first five multiples of

324

° Watch Video Solution



https://dl.doubtnut.com/l/_a0DFH0jF6J4d
https://dl.doubtnut.com/l/_J0Xj7S3vg5FJ
https://dl.doubtnut.com/l/_haQH3i7wJ9Ax

14. Write the first five multiples of

908

° Watch Video Solution

15. Draw factor tree for each of the following:

192

° Watch Video Solution

16. Draw factor tree for each of the following:

456

° Watch Video Solution



https://dl.doubtnut.com/l/_adEpCAa5tTjJ
https://dl.doubtnut.com/l/_aNFW4sf00Co5
https://dl.doubtnut.com/l/_K7ZgY1kYdMbm

17. Draw factor tree for the following:

102

° Watch Video Solution

18. Using divisibility test, fill 'yes' or 'no' to complete the

table.

Number| - Divisible by
2[3]4[5]6]7][8]9]10[12]22
||

i i

(i) | 483564

° Watch Video Solution



https://dl.doubtnut.com/l/_K7ZgY1kYdMbm
https://dl.doubtnut.com/l/_dVG0fFLQyCYb
https://dl.doubtnut.com/l/_UsV8EZYbrqhb

19. Find the smallest number which when divided by 25,

40 and 60 leaves remainder 8 in each case.

° Watch Video Solution

20. In a seminar. the number of participants in Hindi,
English and Mathematics are 60,84 and 108
respectively. Find the minimum number of rooms
required if, in each room the same number of
participants are to be seated and all of them being in

the same subject.

° Watch Video Solution



https://dl.doubtnut.com/l/_t8aa6kZin2xe
https://dl.doubtnut.com/l/_XXtnf36CvAQK
https://dl.doubtnut.com/l/_wzwyhfg0Tl98

21. the HCF of two numbers is 6. If the numbers are 24

and 42, find their LCM.

° Watch Video Solution

22. Three cars A, B and C are moving around a circular
path. In one hour, car A completes 3 rounds, car B
completes 2 rounds and car C completes 4 rounds. If
they start from the same point at the same time, after
how much time will they meet again at the same point

from where they started out?

° Watch Video Solution



https://dl.doubtnut.com/l/_wzwyhfg0Tl98
https://dl.doubtnut.com/l/_jv9HWXM4cV7S

23. The LCM and HCF of two numbers are respectively
2520 and 6. If one number is 120, find the other

number.

0 Watch Video Solution

24. Find the smallest number which on dividing

separately by 12, 20 and 24, leaves 7 as a remainder.

° Watch Video Solution

25. Find the greatest 4-digit number which is exactly

divisible by the numbers 4,15 and 20.



https://dl.doubtnut.com/l/_ufBmjpn4T5eG
https://dl.doubtnut.com/l/_rx9F02XZJGAE
https://dl.doubtnut.com/l/_K7R2ZGJcWYWY

l o Watch Video Solution

Ncert Section Exercise 3 1

1. Write all the factors of the following numbers :

24

° Watch Video Solution

2. Write all the factors of the following numbers :

15

° Watch Video Solution



https://dl.doubtnut.com/l/_K7R2ZGJcWYWY
https://dl.doubtnut.com/l/_uD1LEZT8Bf3m
https://dl.doubtnut.com/l/_FfXrS9ZLtGUQ
https://dl.doubtnut.com/l/_HCmxXtL8Ld9O

3. Write all the factors of the following numbers :

21

° Watch Video Solution

4. Write all the factors of the following numbers :

27

° Watch Video Solution

5. Write all the factors of the following numbers :

12

° Watch Video Solution



https://dl.doubtnut.com/l/_HCmxXtL8Ld9O
https://dl.doubtnut.com/l/_WPnVbaa7TAOM
https://dl.doubtnut.com/l/_ZIlstxews67J

6. Write all the factors of the following numbers :

20

° Watch Video Solution

7. Write all the factors of the following numbers :

18

° Watch Video Solution

8. Write all the factors of the following numbers :

23

[ a WAL _ L vl e~ ..


https://dl.doubtnut.com/l/_ZIlstxews67J
https://dl.doubtnut.com/l/_CRNPTeEcwGRX
https://dl.doubtnut.com/l/_WsOXHcfzMY7p
https://dl.doubtnut.com/l/_k9qsbQCY4r4I

{ ™ Vvvallll viUco o0IutLiorl

9. Write all the factors of the following numbers :

36

° Watch Video Solution

10. Write first five multiples of:

5

° Watch Video Solution

11. Write first five multiples of:

8


https://dl.doubtnut.com/l/_k9qsbQCY4r4I
https://dl.doubtnut.com/l/_8wi6Ef7Um51m
https://dl.doubtnut.com/l/_47XoHF8AYNFO
https://dl.doubtnut.com/l/_0N4qrf0PlbMv

° Watch Video Solution

12. Write first five multiples of:

9

o Watch Video Solution

13. Match the items in column 1 with the items in
column 2. Column 1 Column 2 (i) 35 (a) Multiple of 8 (ii)
15 (b) Multiple of 7 (iii) 16 (c) Multiple of 70 (iv) 20 (d)

Factor of 30 (v) 25 (e) Factor of 50 (f) Factor of 20

° Watch Video Solution



https://dl.doubtnut.com/l/_0N4qrf0PlbMv
https://dl.doubtnut.com/l/_Gbvkn9sAYC23
https://dl.doubtnut.com/l/_Fo1T5BeJiQuz
https://dl.doubtnut.com/l/_pL8TSJVSsUhQ

14. Find all the multiples of 9 upto 100.

° Watch Video Solution

Ncert Section Exercise 3 2

1. What is the sum of any two (a) Odd numbers (b)

Even Numbers ?

° Watch Video Solution

2. What is the sum of any two (a) Odd numbers (b)

Even Numbers ?

| e |


https://dl.doubtnut.com/l/_pL8TSJVSsUhQ
https://dl.doubtnut.com/l/_v5oy7M6aSRUw
https://dl.doubtnut.com/l/_bZtvMUTvbUXG

l & Watch Video Solution J

3. State whether the following statements are True or
False

The sum of three odd numbers is even.

° Watch Video Solution

4. State whether the following statements are True or
False:
The sum of two odd numbers and one even number is

even.

° Watch Video Solution



https://dl.doubtnut.com/l/_bZtvMUTvbUXG
https://dl.doubtnut.com/l/_acQzleeHlfrj
https://dl.doubtnut.com/l/_dyD6RQWcNLOU

5. State whether the following statements are True or

False:

The product of three odd numbers is odd.

° Watch Video Solution

6. State whether the following statements are True or
False :
If an even number is divided by 2, the quotient is

always odd.

o Watch Video Solution



https://dl.doubtnut.com/l/_DnKeiQ45y487
https://dl.doubtnut.com/l/_VlPzDue9KGim

7. State whether the following statements are True or
False :

All prime numbers are odd.

° Watch Video Solution

8. State whether the following statements are True or
False :

Prime numbers do not have any factors.

° Watch Video Solution



https://dl.doubtnut.com/l/_tExiso5YX9os
https://dl.doubtnut.com/l/_8kc1IF7z87m5

9. State whether the following statements are True or
False:

Sum of two prime numbers is always even.

° Watch Video Solution

10. State whether the following statements are True or
False :

2 is the only even prime number.

° Watch Video Solution



https://dl.doubtnut.com/l/_b1HRglBSPtp2
https://dl.doubtnut.com/l/_cWXNXnOR1jPQ

11. State whether the following statements are True or
False:

All even numbers are composite numbers

° Watch Video Solution

12. State whether the following statements are True or
False :

The product of two even numbers is always even.

° Watch Video Solution



https://dl.doubtnut.com/l/_F9Bu1EcdRiB7
https://dl.doubtnut.com/l/_b1iRfg6NsujS

13. The numbers 13 and 31 are prime numbers. Both
these numbers have same digits 1 and 3. Find such

pairs of prime numbers upto 100

0 Watch Video Solution

14. Write down separately the prime and composite

numbers less than 20.

° Watch Video Solution

15. What is the greatest prime number between 1 and

10?7



https://dl.doubtnut.com/l/_LHvyP8yvaPao
https://dl.doubtnut.com/l/_nFgtV37uE4ce
https://dl.doubtnut.com/l/_ag30ngDVNyI2

l o Watch Video Solution J

16. Express the following as the sum of two odd primes.

44

° Watch Video Solution

17. Express the following as the sum of two odd primes.

36

° Watch Video Solution



https://dl.doubtnut.com/l/_ag30ngDVNyI2
https://dl.doubtnut.com/l/_kRNAUTQbcEUb
https://dl.doubtnut.com/l/_66UltXWOgMVX

18. Express the following as the sum of two odd primes.

24

o Watch Video Solution

19. Express the following as the sum of two odd primes.

18

O Watch Video Solution

20. Give three pairs of prime numbers whose difference
is 2. [Remark : Two prime numbers whose difference is

2 are called twin primes]



https://dl.doubtnut.com/l/_2hLDm2prQJON
https://dl.doubtnut.com/l/_jAxdwi3442LP
https://dl.doubtnut.com/l/_uuLQNnRp7awc

l o Watch Video Solution

21. Which of the following numbers are prime?

23

° Watch Video Solution

22. Which of the following numbers are prime?

51

° Watch Video Solution



https://dl.doubtnut.com/l/_uuLQNnRp7awc
https://dl.doubtnut.com/l/_iGTjIRW8t2DT
https://dl.doubtnut.com/l/_edfL2fPn8lSC

23. Which of the following numbers are prime?

37

o Watch Video Solution

24. Which of the following numbers are prime?

26

° Watch Video Solution

25. Write seven consecutive composite numbers less
than 100 so that there is no prime number between

them.



https://dl.doubtnut.com/l/_VQ3N3WJKRqzd
https://dl.doubtnut.com/l/_7q2Ak4KMqxib
https://dl.doubtnut.com/l/_qwrcn7LeITmn

l o Watch Video Solution J

26. Express each of the following numbers as the sum
of three odd primes:

21

o Watch Video Solution

27. Express each of the following numbers as the sum
of three odd primes:

31

° Watch Video Solution



https://dl.doubtnut.com/l/_qwrcn7LeITmn
https://dl.doubtnut.com/l/_QbidREf64hgH
https://dl.doubtnut.com/l/_K9AW5gKeSgHx
https://dl.doubtnut.com/l/_evIVTXEAOgyU

28. Express each of the following numbers as the sum
of three odd primes:

53

° Watch Video Solution

29. Express each of the following numbers as the sum
of three odd primes:

61

° Watch Video Solution

30. Write five pairs of prime numbers less than 20

whose sum is divisible by 5. Hint : 3+7 =10)


https://dl.doubtnut.com/l/_evIVTXEAOgyU
https://dl.doubtnut.com/l/_cwPLs1jJnKOg
https://dl.doubtnut.com/l/_ynqMdkKvjrH1

o Watch Video Solution

31. Fill in the blanks : (a) A number which has only two

factors is calleda __ .(b) A number which has more
than two factors is calleda .(c) 1is neither
nor __ .(d) The smallest prime number is . (e)

The smallest com

° Watch Video Solution

32.Fill in the blanks : (a) A number which has only two
factors is calleda ___ .(b) A number which has more

than two factors is called a .(c) 1is neither


https://dl.doubtnut.com/l/_ynqMdkKvjrH1
https://dl.doubtnut.com/l/_wufv06dKvrfR
https://dl.doubtnut.com/l/_HRr4gZCulMIa

nor . (d) The smallest prime number is

The smallest com

° Watch Video Solution

33.Fill in the blanks:

1is neither _ nor

° Watch Video Solution

34.Fill in the blanks:

The smallest prime numberis__

° Watch Video Solution



https://dl.doubtnut.com/l/_HRr4gZCulMIa
https://dl.doubtnut.com/l/_U3Mgi5vQsFiY
https://dl.doubtnut.com/l/_zNQJw2m1M54w

35. Fill in the blanks:

The smallest composite numberis

° Watch Video Solution

36. Fill in the blanks:

The smallest even numberis

° Watch Video Solution

Ncert Section Exercise 3 3


https://dl.doubtnut.com/l/_nOsbekbC9yat
https://dl.doubtnut.com/l/_QfWinnYEXqNu

1. Using divisibility tests, determine which of the
following numbers are divisible by 2; by 3; by 4; by 5; by

6; by 8; by 9; by 10 ; by 11 (say, yes or no):

0 Watch Video Solution

2. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

572

° Watch Video Solution



https://dl.doubtnut.com/l/_ZaJuj2v2BGUv
https://dl.doubtnut.com/l/_k5LgEPAqNGcL

3. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

726352

° Watch Video Solution

4. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

5500

° Watch Video Solution



https://dl.doubtnut.com/l/_9CqItmEwzpCt
https://dl.doubtnut.com/l/_jXk6YgJ9CMbc

5. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

6000

° Watch Video Solution

6. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

12159

° Watch Video Solution



https://dl.doubtnut.com/l/_vG4TREsJwuvV
https://dl.doubtnut.com/l/_TKiZ5NPJToGb

7. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

14560

° Watch Video Solution

8. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

21084

° Watch Video Solution



https://dl.doubtnut.com/l/_1r93575uwNFZ
https://dl.doubtnut.com/l/_cnAEUUKZGEnP

9. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

31795072

° Watch Video Solution

10. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

1700

° Watch Video Solution



https://dl.doubtnut.com/l/_DWg8gy9RExOT
https://dl.doubtnut.com/l/_N30PSazTYZMn

11. Using divisibility tests, determine which of the
following numbers are divisible by 4, by 8:

2150

° Watch Video Solution

12. Using divisibility tests, determine which of following
numbers are divisible by 6:

277144

° Watch Video Solution



https://dl.doubtnut.com/l/_otCzXMghK68z
https://dl.doubtnut.com/l/_laknQtGtPuWU

13. Using divisibility tests, determine which of following
numbers are divisible by 6:

1258

° Watch Video Solution

14. Using divisibility tests, determine which of following
numbers are divisible by 6:

4335

° Watch Video Solution



https://dl.doubtnut.com/l/_vK3nhjzXNE6F
https://dl.doubtnut.com/l/_Cpc5QB4Qtyqy

15. Using divisibility tests, determine which of following
numbers are divisible by 6:

61233

° Watch Video Solution

16. Using divisibility tests, determine which of following
numbers are divisible by 6:

901352

° Watch Video Solution



https://dl.doubtnut.com/l/_PfsyrCyWcytp
https://dl.doubtnut.com/l/_rY4f6cS69Q41

17. Using divisibility tests, determine which of following
numbers are divisible by 6:

438750

° Watch Video Solution

18. Using divisibility tests, determine which of following
numbers are divisible by 6:

1790184

° Watch Video Solution



https://dl.doubtnut.com/l/_5MMw6hCXWJdH
https://dl.doubtnut.com/l/_J59hzY2lqE0l

19. Using divisibility tests, determine which of following
numbers are divisible by 6:

12583

0 Watch Video Solution

20. Using divisibility tests, determine which of
following numbers are divisible by 6:

639210

° Watch Video Solution



https://dl.doubtnut.com/l/_En5YZ7HypsRB
https://dl.doubtnut.com/l/_x6a09xPTqMFX

21. Using divisibility tests, determine which of following
numbers are divisible by 6:

17852

0 Watch Video Solution

22. Using divisibility tests, determine which of the
following numbers are divisible by 11:

5445

° Watch Video Solution



https://dl.doubtnut.com/l/_ZwjofNcnfX0Q
https://dl.doubtnut.com/l/_yKE85uJaXYtR

23. Using divisibility tests, determine which of the
following numbers are divisible by 11:

10824

° Watch Video Solution

24. Using divisibility tests, determine which of the
following numbers are divisible by 11:

7138965

° Watch Video Solution



https://dl.doubtnut.com/l/_8tF6TJtgoSa1
https://dl.doubtnut.com/l/_J610LF6d66xC

25. Using divisibility tests, determine which of the
following numbers are divisible by 11:

70169308

° Watch Video Solution

26. Using divisibility tests, determine which of the
following numbers are divisible by 11:

10000001

° Watch Video Solution



https://dl.doubtnut.com/l/_hlg6IZz2wNxp
https://dl.doubtnut.com/l/_vRhnOytDMfnd

27. Using divisibility tests, determine which of the
following numbers are divisible by 11:

901153

0 Watch Video Solution

28. Write the smallest digit and the greatest digit in
the blank space of each of the following numbers so
that the number formed is divisible by 3:

6724

o Watch Video Solution



https://dl.doubtnut.com/l/_OHSPlH085sNg
https://dl.doubtnut.com/l/_yIQluRZ7AqFR

29. Write the smallest digit and the greatest digit in
the blank space of each of the following numbers so
that the number formed is divisible by 3:

4765 2

° Watch Video Solution

30. Write a digit in the blank space of each of the

following numbers so that the number formed is

divisible by 11: (a) (b)

o Watch Video Solution



https://dl.doubtnut.com/l/_IDA3nSniRI77
https://dl.doubtnut.com/l/_zaL9zp8WBL7w

31. Write a digit in the blank space of each of the

following numbers so that the number formed is

divisible by 11: (a) (b)

° Watch Video Solution

Ncert Section Exercise 3 4

1. Find the common factors of : (a) 20 and 28 (b) 15 and

25 (c) 35 and 50 (d) 56 and 120

° Watch Video Solution



https://dl.doubtnut.com/l/_nvKL9XMHSrhS
https://dl.doubtnut.com/l/_Dw4KDHvekqJL

2.Find the common factors of: 15 and 25 (ii) 35 and 50

(iii) 20 and 28

o Watch Video Solution

3. Find the common factors of: 15 and 25 (ii) 35 and 50

(iii) 20 and 28

° Watch Video Solution

4. Find the common factors of 56 and 120.

o Watch Video Solution



https://dl.doubtnut.com/l/_7ZHiLJFT2PUP
https://dl.doubtnut.com/l/_Zfwe0YT6Nry7
https://dl.doubtnut.com/l/_RZdnnOaBUk26
https://dl.doubtnut.com/l/_X3tU6tzUBxcP

5.Find the common factors of : (a) 4, 8 and 12 (b) 5, 15

and 25

° Watch Video Solution

6. Find the common factors of: 5, 15 and 25 (ii) 2, 6 and

8

° Watch Video Solution

7. 3. Find first three common multiples of : (a) 6 and 8

(b) 12 and 18

° Watch Video Solution



https://dl.doubtnut.com/l/_X3tU6tzUBxcP
https://dl.doubtnut.com/l/_iF6VmJWj424C
https://dl.doubtnut.com/l/_VBuOrtMlXiY6

8. 3. Find first three common multiples of : (a) 6 and 8

(b) 12 and 18

° Watch Video Solution

9. Write all the numbers less than 100 which are

common multiples of 3 and 4.

° Watch Video Solution

10. Which of the following numbers are co-prime? (a) 18

and 35 (b) 15 and 37 (c) 30 and 415 (d) 17 and 68 (e) 216


https://dl.doubtnut.com/l/_VBuOrtMlXiY6
https://dl.doubtnut.com/l/_KNSDo7yOWTEW
https://dl.doubtnut.com/l/_IxZf8YE0P8NM
https://dl.doubtnut.com/l/_4iaa3WvkjkaP

and 215 (f) 81 and 16

° Watch Video Solution

11. Which of the following numbers are co-prime? (a) 18
and 35 (b) 15 and 37 (c) 30 and 415 (d) 17 and 68 (e) 216

and 215 (f) 81 and 16

° Watch Video Solution

12. Which of the following numbers are co-prime? (a) 18
and 35 (b) 15 and 37 (c) 30 and 415 (d) 17 and 68 (e) 216

and 215 (f) 81 and 16

° Watch Video Solution



https://dl.doubtnut.com/l/_4iaa3WvkjkaP
https://dl.doubtnut.com/l/_vGZRkZk9SKsd
https://dl.doubtnut.com/l/_7r6km7QdPlp5

13. Rgfafad & @ &9 It G0 Jg-3mM=a & ?
15 31 37

° Watch Video Solution

14. Which of the following numbers are co-prime? (a) 18
and 35 (b) 15 and 37 (c) 30 and 415 (d) 17 and 68 (e) 216

and 215 (f) 81 and 16

° Watch Video Solution



https://dl.doubtnut.com/l/_7r6km7QdPlp5
https://dl.doubtnut.com/l/_pcnOgSq7xnty
https://dl.doubtnut.com/l/_zXKPlFoKObpE

15. Which of the following numbers are co-prime? (a) 18
and 35 (b) 15 and 37 (c) 30 and 415 (d) 17 and 68 (e) 216

and 215 (f) 81 and 16

0 Watch Video Solution

16. A number is divisible by both 5 and 12. By which

other number will that number be always divisible ?

° Watch Video Solution

17. A number is divisible by 12. By what other numbers

will that number be divisible ?



https://dl.doubtnut.com/l/_lcnTB3dVQGoZ
https://dl.doubtnut.com/l/_kfXkDiIAVTB8
https://dl.doubtnut.com/l/_95CUh8OsvTFw

l o Watch Video Solution J

Ncert Section Exercise 3 5

1. Which of the following statements are true? (a) If a
number is divisible by 3, it must be divisible by 9.(b) If a
number is divisible by 9, it must be divisible by 3. (c) A
number is divisible by 18, if it is divisible by both 3 and

6.(d) If

° Watch Video Solution



https://dl.doubtnut.com/l/_95CUh8OsvTFw
https://dl.doubtnut.com/l/_ZxacnKgEtkY8

2. Which of the following statements are true?

If a number is divisible by 9, it must be divisible by 3.

o Watch Video Solution

3. Which of the following statements are true?
A number is divisible by 18, if it is divisible by both 3

and 6.

° Watch Video Solution

4. Which of the following statements are true? If a

number is divisible by 3, it must be divisible by 9. If a


https://dl.doubtnut.com/l/_Fk58KpoCGwPI
https://dl.doubtnut.com/l/_WAnwOJoDaZuP
https://dl.doubtnut.com/l/_Lz4LO9Ugjdbl

number is divisible by 9, it must be divisible by 3. If a
number is divisible by 4, it must be divisible by 8. If a
number is divisible by 8, it must be divisible by 4. If a
number is divisible by 18, if it is divisible by both 3 and
6. If a number is divisible by both 9 and 10, it must be
divisible by 90. If a number exactly divides the sum of
two numbers, it must exactly divide the numbers
separately. If a number divides three numbers exactly, it
must divide their sum exactly. If two numbers are co-
prime, at least one of them must be a prime number.
The sum of two consecutive odd numbers is always

divisible by 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_Lz4LO9Ugjdbl
https://dl.doubtnut.com/l/_KmF4EZIB1M8K

5. Which of the following statements are true? (a) If a
number is divisible by 3, it must be divisible by 9. (b) If a
number is divisible by 9, it must be divisible by 3. (c) A
number is divisible by 18, if it is divisible by both 3 and

6.(d) If

o Watch Video Solution

6. Which of the following statements are true? (a) If a
number is divisible by 3, it must be divisible by 9. (b) If a
number is divisible by 9, it must be divisible by 3. (c) A
number is divisible by 18, if it is divisible by both 3 and

6.(d) If

0 Watch Video Solution



https://dl.doubtnut.com/l/_KmF4EZIB1M8K
https://dl.doubtnut.com/l/_zCn2vE6yYtTw

7. Which of the following statements are true? (a) If a
number is divisible by 3, it must be divisible by 9. (b) If a
number is divisible by 9, it must be divisible by 3. (c) A
number is divisible by 18, if it is divisible by both 3 and

6.(d) If

o Watch Video Solution

8. Which of the following statements are true? (a) If a
number is divisible by 3, it must be divisible by 9. (b) If a
number is divisible by 9, it must be divisible by 3. (c) A
number is divisible by 18, if it is divisible by both 3 and

6.(d) If


https://dl.doubtnut.com/l/_zCn2vE6yYtTw
https://dl.doubtnut.com/l/_LUMxO7hFnzBt
https://dl.doubtnut.com/l/_cZVnKfSje6oM

o Watch Video Solution

9. Which of the following statements are true? (a) If a
number is divisible by 3, it must be divisible by 9. (b) If a
number is divisible by 9, it must be divisible by 3. (c) A
number is divisible by 18, if it is divisible by both 3 and

6.(d) If

° Watch Video Solution

10. Here are two different factor trees for 60. Write the

missing numbers.


https://dl.doubtnut.com/l/_cZVnKfSje6oM
https://dl.doubtnut.com/l/_ZGz88hjhbm58
https://dl.doubtnut.com/l/_qoN8Scu5GpCa

* e &

L

° Watch Video Solution

11. Here are two different factor trees for 60. Write the

missing numbers.

° Watch Video Solution

12. Which factors are not included in the prime

factorisation of a composite number?

° Watch Video Solution



https://dl.doubtnut.com/l/_qoN8Scu5GpCa
https://dl.doubtnut.com/l/_I01B1DUOzRsj
https://dl.doubtnut.com/l/_Yh1eFPpCwrW1

13. Write the greatest 4-digit number and express it in

terms of its prime factors.

° Watch Video Solution

14. Write the smallest 5-digit number and express it in

the form of its prime factors.

o Watch Video Solution

15. Find all the prime factors of 1729 and arrange them

in ascending order. Now state the relation, if any;


https://dl.doubtnut.com/l/_Yh1eFPpCwrW1
https://dl.doubtnut.com/l/_OuPg8usuuC0t
https://dl.doubtnut.com/l/_fggtYgl04fdL
https://dl.doubtnut.com/l/_DuaZyt47gDOl

between two consecutive prime factors.

° Watch Video Solution

16. The product of three consecutive numbers is always
divisible by 6. Verify this statement with the help of

some examples.

° Watch Video Solution

17. The sum of two consecutive odd numbers is
divisible by 4. Verify this statement with the help of

some examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_DuaZyt47gDOl
https://dl.doubtnut.com/l/_FJfE5LjF3yV5
https://dl.doubtnut.com/l/_gD2MtQHqqcDp

18. In which of the following expressions, prime
factorisation has been done? (a)24=234(b)56=72 2

2(c)70=257(d)54=239

0 Watch Video Solution

19. In which of the following expressions, prime
factorisation has been done? (a) 24=234(b)56=72 2

2(c)70=257(d)54=239

° Watch Video Solution



https://dl.doubtnut.com/l/_gD2MtQHqqcDp
https://dl.doubtnut.com/l/_zY1T1WzsbueP
https://dl.doubtnut.com/l/_r8AelkdtxJp0

20. In which of the following expressions, prime
factorisation has been done? (a)24=234(b)56=72 2

2(c)70=257(d)54=239

° Watch Video Solution

21. In which of the following expressions, prime
factorisation has been done? (a) 24=234(b)56=72 2

2(c)70=257(d)54=239

° Watch Video Solution

22. Determine if 25110 is divisible by 45.



https://dl.doubtnut.com/l/_suW57KGn7bZA
https://dl.doubtnut.com/l/_jTKPtvahJcFJ
https://dl.doubtnut.com/l/_ViehTvNFjw29

l o Watch Video Solution

23.18 is divisible by both 2 and 3. It is also divisible by 2
3 = 6. Similarly, a number is divisible by both 4 and 6.
Can we say that the number must also be divisible by ?

If not, give an example to justify your answer.

° Watch Video Solution

24. | am the smallest number, having four different

prime factors. Can you find me?

° Watch Video Solution



https://dl.doubtnut.com/l/_ViehTvNFjw29
https://dl.doubtnut.com/l/_P4jngz1T2VUB
https://dl.doubtnut.com/l/_NZo9tv0ALtRb

Ncert Section Exercise 3 6

1. Find the HCF of the following numbers:

18,60

° Watch Video Solution

2. Find the HCF of the following numbers:

34,102

o Watch Video Solution



https://dl.doubtnut.com/l/_igDhAuC9IHbs
https://dl.doubtnut.com/l/_y34bYaUYUFNP

3. Find the HCF of the following numbers:

70,105,175

° Watch Video Solution

4. Find the HCF of the following numbers:

91,112,49

° Watch Video Solution

5. Find the HCF of the following numbers:

18,54,81

° Watch Video Solution



https://dl.doubtnut.com/l/_eq7xij1U5dCw
https://dl.doubtnut.com/l/_uM7qztYKU24o
https://dl.doubtnut.com/l/_bIGHVPh0Ur4d

6. Find the HCF of the following numbers:

12,45,75

° Watch Video Solution

7. What is the HCF of two consecutive (a) numbers? (b)

even numbers? (c) odd numbers?

° Watch Video Solution

8. What is the HCF of two consecutive (a) numbers? (b)

even numbers? (c) odd numbers?



https://dl.doubtnut.com/l/_bIGHVPh0Ur4d
https://dl.doubtnut.com/l/_NJAir0UQmbEy
https://dl.doubtnut.com/l/_t7yGomEux2m5
https://dl.doubtnut.com/l/_4WRamcl8qheu

l @ Watch Video Solution J

9. The HCF of two consecutive odd numbers is ............

° Watch Video Solution

10. HCF of co-prime numbers 4 and 15 was found as
follows by factorisation : and since there is no common
prime factor, so HCF of 4 and 15 is O. Is the answer

correct? If not, what is the correct HCF?

° Watch Video Solution

Ncert Section Exercise 3 7


https://dl.doubtnut.com/l/_4WRamcl8qheu
https://dl.doubtnut.com/l/_qur9fooVIxN4
https://dl.doubtnut.com/l/_sad6QpLm5zTv

1. Renu purchases two bags of fertiliser of weights 75
kg and 69 kg. Find the maximum value of weight which
can measure the weight of the fertiliser exact number

of times.

° Watch Video Solution

2. Three boys step off together from the same spot.
Their steps measure 63 cm, 70 cm and 77 c<m
respectively. What is the minimum distance each
should cover so that all can cover the distance in

complete steps?

o Watch Video Solution



https://dl.doubtnut.com/l/_e6TllAX5n5Mq
https://dl.doubtnut.com/l/_dEiwQLpvkqzu

3. The length, breadth and height of a room are 825
cm, 675 cm and 450 cm respectively. Find the longest
tape which can measure the three dimensions of the

room exactly.

° Watch Video Solution

4. Determine the smallest 3-digit number which is

exactly divisible by 6, 8 and 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_dEiwQLpvkqzu
https://dl.doubtnut.com/l/_hRwA06zyUSQK
https://dl.doubtnut.com/l/_sJ6EOs3XHR3Z

5. Determine the greatest 3-digit number exactly

divisible by 8,10 and 12.

o Watch Video Solution

6. The traffic lights at three different road crossings
change after every 48 seconds, 72 seconds and 108
seconds respectively. If they change simultaneously at
7 a.m, at what time will they change simultaneously

again?

° Watch Video Solution



https://dl.doubtnut.com/l/_S8Q2dptVAQis
https://dl.doubtnut.com/l/_SQ8Fncb9kVGv

7. Three tankers contain 403 litres, 434 litres and 465
litres of diesel respectively. Find the maximum capacity
of a container that can measure the diesel of the three

containers exact number of times.

° Watch Video Solution

8. Find the least number which when divided by 6, 15

and 18 leave remainder 5 in each case.

° Watch Video Solution



https://dl.doubtnut.com/l/_PnuWQfojSCpP
https://dl.doubtnut.com/l/_3sWpxzBGTYps

9.Find the smallest 4-digit number which is divisible by

18,24 and 32

o Watch Video Solution

10. Find the LCM of the following numbers : (a) 9 and 4
(b) 12 and 5 (c) 6 and 5 (d) 15 and 4 Observe a common
property in the obtained LCMs. Is LCM the product of

two numbers in each case?

° Watch Video Solution



https://dl.doubtnut.com/l/_u8LF1VheKCY1
https://dl.doubtnut.com/l/_97PO5VixaRDg

11. Find the LCM of the following numbers : (a) 9 and 4
(b) 12 and 5 (c) 6 and 5 (d) 15 and 4 Observe a common
property in the obtained LCMs. Is LCM the product of

two numbers in each case?

° Watch Video Solution

12. Find the LCM of the following numbers : (a) 9 and 4
(b) 12 and 5 (c) 6 and 5 (d) 15 and 4 Observe a common
property in the obtained LCMs. Is LCM the product of

two numbers in each case?

° Watch Video Solution



https://dl.doubtnut.com/l/_ANAYetcbKdwF
https://dl.doubtnut.com/l/_Insl0Rw9slHB
https://dl.doubtnut.com/l/_1m3h7fvAcTWT

13. Find the LCM of the following numbers : (a) 9 and 4
(b) 12 and 5 (c) 6 and 5 (d) 15 and 4 Observe a common
property in the obtained LCMs. Is LCM the product of

two numbers in each case?

o Watch Video Solution

14. Find the LCM of the following numbers in which one
number is the factor of the the Other. (a) 5, 20 (b) 6, 18
(c) 12,48 (d) 9, 45 What do you observe in the results

obtained?

° Watch Video Solution



https://dl.doubtnut.com/l/_1m3h7fvAcTWT
https://dl.doubtnut.com/l/_4uKzgsS0rssL

15. Find the LCM of the following numbers in which one
number is the factor of the the Other. (a) 5, 20 (b) 6, 18
(c) 12,48 (d) 9, 45 What do you observe in the results

obtained?

° Watch Video Solution

16. Find the LCM of the following numbers in which one
number is the factor of the the Other. (a) 5, 20 (b) 6, 18
(c) 12, 48 (d) 9, 45 What do you observe in the results

obtained?

° Watch Video Solution



https://dl.doubtnut.com/l/_gQVqH2PUH6cm
https://dl.doubtnut.com/l/_uxeKnqLI7HJe
https://dl.doubtnut.com/l/_Q78zznqA1wrw

17. Find the LCM of the following numbers in which one
number is the factor of the other.

8,48

° Watch Video Solution

Exercise Mcq Level 1

1.55 is not a multiple of

Al

B.5

C. 22


https://dl.doubtnut.com/l/_Q78zznqA1wrw
https://dl.doubtnut.com/l/_7MiRCrP9Ga9L

D. 1

Answer:

° Watch Video Solution

2.The sum of the factors of 35is___

A. 84

B.13

C.40

D.48

Answer:



https://dl.doubtnut.com/l/_7MiRCrP9Ga9L
https://dl.doubtnut.com/l/_I0ab9NSw7tFq

l P Watch Video Solution

3. Which of the following numbers has a LCM 60?

A.(12,5,7)

B. (12,5, 60)

C.(2,6,10)

D. (3,6,10)

Answer:

° Watch Video Solution

4.532460 is not divisible by


https://dl.doubtnut.com/l/_I0ab9NSw7tFq
https://dl.doubtnut.com/l/_nAs1SJzp9cjt
https://dl.doubtnut.com/l/_NT2xsSiT9PwJ

A.10

B.5

C.3

D.4

Answer:

° Watch Video Solution

5.The number 53 isa__

A. odd

B. prime


https://dl.doubtnut.com/l/_NT2xsSiT9PwJ
https://dl.doubtnut.com/l/_WVu4Mu1VxbCA

C. Composite

D. Both odd and prime

Answer:

° Watch Video Solution

6. HCF of 70,105 and 175 is__

A. 35

B. 135

C. 1050

D.7


https://dl.doubtnut.com/l/_WVu4Mu1VxbCA
https://dl.doubtnut.com/l/_fDOhHjhEHoB1

Answer:

° Watch Video Solution

7. Determine the number nearest to 110000 but greater

than 100000 which is exactly divisible by each of 8, 15

and 21.

A. 100800

B. 100900

C. 100700

D. 100600

Answer:


https://dl.doubtnut.com/l/_fDOhHjhEHoB1
https://dl.doubtnut.com/l/_F11FqXNTmud8

° Watch Video Solution

8. Which of the following is not a pair of twin primes

between 10 and 40?

A. (11,13)

B. (21, 23)

C.(17,19)

D. (29, 31)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_F11FqXNTmud8
https://dl.doubtnut.com/l/_JLcOEhJfYPd3
https://dl.doubtnut.com/l/_7x4p3VKXtk6N

9.The least prime number with consecutive digits is___

A. 43

B.19

C.53

D. 23

Answer:

° Watch Video Solution

10. The greatest number that exactly divides 81 and 153

is


https://dl.doubtnut.com/l/_7x4p3VKXtk6N
https://dl.doubtnut.com/l/_9TYsjNdn4RBz

A3

B.10

C.9

D. M

Answer:

° Watch Video Solution

11. 96 is not a multiple of

A. (5, 15)

B.(3,8)


https://dl.doubtnut.com/l/_9TYsjNdn4RBz
https://dl.doubtnut.com/l/_Ovw9rya9xsaq

C.(8,12)

D. (4,24)

Answer:

° Watch Video Solution

12. Replace y by the non-zero digit, if the number 68y70

is divisible by 6.

A2

B.3

C.1

D.4


https://dl.doubtnut.com/l/_Ovw9rya9xsaq
https://dl.doubtnut.com/l/_VUpop6ZndqjN

Answer:

° Watch Video Solution

13. What is the sum of prime numbers between 11 and

20.

° Watch Video Solution

14. Eight added to 9th multiple of 11 gives,

A.170

B. 107


https://dl.doubtnut.com/l/_VUpop6ZndqjN
https://dl.doubtnut.com/l/_hXLobHGzu3nD
https://dl.doubtnut.com/l/_AY48PhD6lJlX

C.19

D. 91

Answer:

° Watch Video Solution

15. Which of the following is a co-prime with 273

A. 357

B. 243

C.353

D. None of these


https://dl.doubtnut.com/l/_AY48PhD6lJlX
https://dl.doubtnut.com/l/_8VcdvcNB4ILs

Answer:

° Watch Video Solution

16. The LCM of 504, 1260, 60 is___

A. 420

B. 2520

C. 252

D. 126

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8VcdvcNB4ILs
https://dl.doubtnut.com/l/_6Dw1e60OtaN4

17. The sum of an even number and an odd number is

an odd number.

A. Odd

B. Even

C. Both even and odd

D. Prime

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_lGPUwetAAjee

18. Without actual division, find which of the following

numbers is exactly divisible by 2, 3and 5?

A.185

B. 5875

C.3540

D. 709

Answer:

o Watch Video Solution

19. What is the largest perfect number less than 507


https://dl.doubtnut.com/l/_SaJK14zMntNQ
https://dl.doubtnut.com/l/_3PnNAzm6oL2Q

A.6

B. 28

C. 51

D. 56

Answer:

° Watch Video Solution

20. If a number is divisible by both 5 and 7, then it must

necessarily be divisible by

A.5+7


https://dl.doubtnut.com/l/_3PnNAzm6oL2Q
https://dl.doubtnut.com/l/_Ahi48ETAFg8I

Answer:

° Watch Video Solution

21.7120 is not divisible by

A5

B.10

C.6

D.8


https://dl.doubtnut.com/l/_Ahi48ETAFg8I
https://dl.doubtnut.com/l/_D9SkZCOJWcel

Answer:

° Watch Video Solution

22. Which of the following numbers is not prime?

A. 161

B. 137

C.127

D. 353

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_D9SkZCOJWcel
https://dl.doubtnut.com/l/_bz0DKMzzHecf

23. Which of the following is a prime number?

A. 263

B. 361

C.323

D.324

Answer:

° Watch Video Solution

24. Which one of the following numbers is divisible by

3?7


https://dl.doubtnut.com/l/_4rHGGc5boZmi
https://dl.doubtnut.com/l/_ND9UAJ9DlZ6q

A. 27326

B. 42356

C. 73545

D. 45326

Answer:

° Watch Video Solution

25. Find the HCF of 13,91 and 117.

Al

B. 91


https://dl.doubtnut.com/l/_ND9UAJ9DlZ6q
https://dl.doubtnut.com/l/_JEhEysnD7Sze

C. 117

D.13

Answer:

° Watch Video Solution

26. Find the LCM of 35, 55 and 95.

A. 1925

B. 7355

C.7315

D. 385


https://dl.doubtnut.com/l/_JEhEysnD7Sze
https://dl.doubtnut.com/l/_jsYEQgRwAdkR

Answer:

° Watch Video Solution

27. Which of the following is not the factor of 2077

A.3

B. 23

C.7

D. 69

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jsYEQgRwAdkR
https://dl.doubtnut.com/l/_dbR4RIWTdbJv

28. A number is divisible by 6 if it is divisible by

A .2

B.3

C.Both 2 and 3:

D. 12

Answer:

° Watch Video Solution

29.The seventh multiple of 16is___

A. 12


https://dl.doubtnut.com/l/_6phevBeeC07z
https://dl.doubtnut.com/l/_Fk67Tmpte6lg

B. 112

C. 96

D. 23

Answer:

° Watch Video Solution

30. The HCF of two numbers is 23 and their LCM is 1449

.If one of the numbers is 161 find the other.

A. 207

B. 23

C. 21


https://dl.doubtnut.com/l/_Fk67Tmpte6lg
https://dl.doubtnut.com/l/_hGpX7OBWRCBp

D. 209

Answer:

o Watch Video Solution

Exercise Mcq Level 2

1. The greatest common factor of 120 and 192 is

A. 12

B. 24

C.48

D. 84


https://dl.doubtnut.com/l/_hGpX7OBWRCBp
https://dl.doubtnut.com/l/_suKQsWSTO6kp

Answer:

° Watch Video Solution

2.The least 5-digit number which is exactly divisible by

each of 2,3,4,5,6and 7is___

A. 9650

B.420

C. 10080

D. 9660

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_suKQsWSTO6kp
https://dl.doubtnut.com/l/_tW1EjWDwg3fG

3. Which of the following is not equalto 2 x 3 X 57

A.LCM of 15 and 2

B. HCF of 90 and 150

C.LCM of 30 and 25

D. Prime factorisation of 30

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_tW1EjWDwg3fG
https://dl.doubtnut.com/l/_ISFCYykT6YCy

4. Which of the following number is a 6th multiple of

19?

A 114

B.35

C. 171

D. 361

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MICLiG6EVtap

5. Find the maximum value of missing digit (*)to make

52 * 54 divisible by 3.

A2

B.5

C.8

D. None of these

Answer:

o Watch Video Solution

6. Which of the following pairs of numbers is co-prime?


https://dl.doubtnut.com/l/_0okxz3eJxIIR
https://dl.doubtnut.com/l/_lLVFiqMgT8ud

A. 39,91

B. 161,192

C. 385,462

D. 189, 243

Answer:

° Watch Video Solution

7.1f a and b are co-primes , then their LCM is .

Al

B.a/b


https://dl.doubtnut.com/l/_lLVFiqMgT8ud
https://dl.doubtnut.com/l/_XJT7UKtP3Gv0

C.ab

D. none of these

Answer:

° Watch Video Solution

8.The sum of the prime numbers between 60 and 75 is

199 (b) 201 (c) 211 (d) 272

A. 199

B. 201

C. 21

D. 276


https://dl.doubtnut.com/l/_XJT7UKtP3Gv0
https://dl.doubtnut.com/l/_rl9v51PbMvQl

Answer:

° Watch Video Solution

9. What least value should be given to ™" so that the

number 915*26 is divisible by 9

Al

B.4

C.2

D.6

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rl9v51PbMvQl
https://dl.doubtnut.com/l/_GY1UUKSEKYW9

10. The smallest odd prime number is

Al

B.2

C.3

D.4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GY1UUKSEKYW9
https://dl.doubtnut.com/l/_azXag6rOfEXv

11. The smallest number which when diminished by 3 is

divisible by 14, 28,36 and 45 is

A. 1257

B. 1260

C. 1263

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tqIl3ac5RI5t

12. Find the greatest number of 6 digits exactly

divisible by 24,15 and 36.

A. 999720

B. 999999

C. 999920

D. 999990

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X4GvTxrJwkOy

13. Find the greatest number which divides 285 and

1249 leaving remainders 9 and 7 respectively.

A. 135

B.136

C.136

D. 138

Answer:

° Watch Video Solution

Exercise Match The Following



https://dl.doubtnut.com/l/_i354UsFAPXm5
https://dl.doubtnut.com/l/_lAaWfDeNG712

1. Match the following:

List-I

(P)A number divisible by 12 is

(Q)A number divisible by 10 is

(R)A number divisible by 11 is

(S)A number divisible by 3 but not by 6 is
A. P-1,0-2,R-3,S-4
B. P-3,0-4,R-1,5-2

C.P-3,0-1,R-2,5-4

D. P-4,0-3,R-2,5-1

Answer:

List-II
(1)610
(2)121
(3)432
(4)2817

o Watch Video Solution



https://dl.doubtnut.com/l/_lAaWfDeNG712

2. Match the following:
List-I List-1I
(P)8th multiple of 15is (1)not a prime number
(Q)LCM of 18,24,27is  (2)
(R)33481 is (3)12
(S)HCF of 48,72,108is  (4)120
A. P-4,0-2,R-1,5-3
B. P-2,0-4,R-1,S-3

C. P-1,0-3,R-2,5-4

D. P-4,0-3,R-2,5-1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nzYXteRMQX1r
https://dl.doubtnut.com/l/_kyVxfIKQRqJi

3. Match the following:

List-I List-II
(P)Number ends in 0,5 (1)9

Q)Even prime number is 2)is divisible by 5

( (2)
(R)Smallest composite odd number (3)2
(S)HCF of 72 and 60 (4)12

A. P-3,0-2,R-4S-1
B. P-2,0-3,R-1,5-4
C. P-4,0-3,R-2,5-1

D. P-2,Q0-3,R-4,5-1

Answer:

° Watch Video Solution

Exercise Assertion Reason Type


https://dl.doubtnut.com/l/_kyVxfIKQRqJi

1. Assertion: If 35 and 85 is divisible by 5, then, their

sum 35 +85, is divisible by 5.

Reason : If a number is a factor of two given numbers,

then it is the factor of their sum.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:


https://dl.doubtnut.com/l/_xluf6aI3wqpW

o Watch Video Solution

2. Assertion: The number 9020814' is divisible by 11.

Reason: A number is divisible by 11, if the sum of its

digits is divisible by 11.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_xluf6aI3wqpW
https://dl.doubtnut.com/l/_QoTV0QLYUvqC

Answer:

o Watch Video Solution

3. Assertion:9 is the smallest even composite number.

Reason : Composite number need not be even.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_QoTV0QLYUvqC
https://dl.doubtnut.com/l/_bBxIbbHGTt9M

Answer:

o Watch Video Solution

4, Assertion: HCF of 255 and 357 is 5.

Reason: HCF of co-prime numbers is 1.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_bBxIbbHGTt9M
https://dl.doubtnut.com/l/_ZLpCXavcZ6LD

Answer:

o Watch Video Solution

5. Assertion: Let 13 and 17 are two prime numbers. LCM

of 13 and 17 is 221.

Reason:The LCM of two prime numbers is always their

product.

A. If both assertion and reason are true and reason

is the correct explanation of assertion.

B. If both assertion and reason are true but reason

is not the correct explanation of assertion.


https://dl.doubtnut.com/l/_ZLpCXavcZ6LD
https://dl.doubtnut.com/l/_dtu0Lxu3ReGf

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:

° Watch Video Solution

Exercise Comprehension Type Pasage |

1. Geeta have 50 red beads, 100 white beads and 120

blue beads. She wants to make similar bracelets so that

she can use all beads of each colour.

What is the least number of similar bracelets she can

make?


https://dl.doubtnut.com/l/_dtu0Lxu3ReGf
https://dl.doubtnut.com/l/_2tzsVrtTEwC8

A.15

B. 25

C.10

D.30

Answer:

o Watch Video Solution

2. Geeta have 50 red beads, 100 white beads and 120
blue beads. She wants to make similar bracelets so that
she can use all beads of each colour.

Find the LCM for given white beads and blue beads.


https://dl.doubtnut.com/l/_2tzsVrtTEwC8
https://dl.doubtnut.com/l/_XsTCYDpRjONs

A. 600

B. 120

C. 150

D. 400

Answer:

° Watch Video Solution

Exercise Comprehension Type Pasage li

1.If a is a factor of both b and c, then a is a factor of (b-

c) and (b + ¢).


https://dl.doubtnut.com/l/_XsTCYDpRjONs
https://dl.doubtnut.com/l/_QiOM9U5Uxo3h

If 27 is a factor of a and b, then which of the following

is factor of a + b?

A.3

B.9

C. 27

D. All of these

Answer:

O Watch Video Solution

2. If the value of a=6, b=2 then what is the minimum

value of c so that a is a factor of b + ¢?


https://dl.doubtnut.com/l/_QiOM9U5Uxo3h
https://dl.doubtnut.com/l/_jv3dVMYy4ZeH

A4

B.5

C.10

D.7

Answer:

o Watch Video Solution

3.If ais a factor of both b and e, then a is a factor of (b-
c) and (b + ¢).
If a and bare multiples of 8, then which of the following

would be the difference of the two numbers?


https://dl.doubtnut.com/l/_jv3dVMYy4ZeH
https://dl.doubtnut.com/l/_waDec9CQl3qJ

A4

B.16

C.1

D.2

Answer:

° Watch Video Solution

Exercise Subjective Problems Very Short Answer Type

1. Determine the prime factorisation of 840.

° Watch Video Solution



https://dl.doubtnut.com/l/_waDec9CQl3qJ
https://dl.doubtnut.com/l/_RRFLN8xgUe8m

2. Write all the prime numbers between 1 and 50.

o Watch Video Solution

3. Composite number

° Watch Video Solution

4.Find the LCM of 40, 144 and 180.

° Watch Video Solution



https://dl.doubtnut.com/l/_RRFLN8xgUe8m
https://dl.doubtnut.com/l/_w6zuXkB7qViZ
https://dl.doubtnut.com/l/_ovo7KsNpF0v9
https://dl.doubtnut.com/l/_ZNew8S7wqHIe

5. Write the first five multiples of 13.

° Watch Video Solution

6. Check if 401 is a prime number.

° Watch Video Solution

7. List all 2-digit prime numbers, in which both the

digits are also prime numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_h4wVRUiLGhtw
https://dl.doubtnut.com/l/_TEcMQa6R6yb8
https://dl.doubtnut.com/l/_356Nt6GJxU94

8. What is the least number divisible by 16,20 and 24?

° Watch Video Solution

9. Find the sum of all the prime numbers between 1

and 20.

° Watch Video Solution

10. Find the HCF of 36, 56, 86.

° Watch Video Solution



https://dl.doubtnut.com/l/_uACCQinKVQBi
https://dl.doubtnut.com/l/_fYaSKtvQ8hoo
https://dl.doubtnut.com/l/_yZuwnO2mf97x

Exercise Subjective Problems Short Answer Type

1. Find the largest number which divides 245 and 1029

leaving remainder 5 in each case.

° Watch Video Solution

2. Three city tour buses leave the bus stop at 9:00 a.m.
Bus A returns in every 30 minutes, Bus B returns in
every 20 minutes and Bus C returns in every 45
minutes. What is the next time, all buses will return at

the same time to the bus stop?

° Watch Video Solution



https://dl.doubtnut.com/l/_f9RYqaXyQ2ec
https://dl.doubtnut.com/l/_3zdRMAatZp5x

3. Find the greatest number of five digits which when

divided by 3, 5, 8, 12 have 2 as remainder :

° Watch Video Solution

4, State whether the numbers 27 and 29 are twin

primes or co-primes.

° Watch Video Solution

5. Check the divisibility of 226180 by 2, 3, 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_9C9LPcUulM8y
https://dl.doubtnut.com/l/_338KuZoEZvj1
https://dl.doubtnut.com/l/_rL8lFQPKaVX9
https://dl.doubtnut.com/l/_uHEAdT4ihLcE

6. A rectangular room is 20 m 16 cm long and 15 m 60
cm wide. It is paved with square tiles of the same size.

Find the greatest size of each tile.

° Watch Video Solution

7. Find the LCM of 14, 21 and 35 by prime factorisation

method.

° Watch Video Solution

8. Find the HCF of the numbers 276, 348 and 444.

° Watch Video Solution



https://dl.doubtnut.com/l/_uHEAdT4ihLcE
https://dl.doubtnut.com/l/_WcCFr9VxMT2l
https://dl.doubtnut.com/l/_oHb1wziGYt02

9. Define co-prime numbers. Write down three

examples

° Watch Video Solution

10. Write the greatest 4-digit number and express it in

terms of its prime factors.

° Watch Video Solution

Exercise Subjective Problems Long Answer Type



https://dl.doubtnut.com/l/_oHb1wziGYt02
https://dl.doubtnut.com/l/_xJYFJPzXpblh
https://dl.doubtnut.com/l/_bQSKRN8ymkR9

1. Find the LCM and HCF of 54, 108 and 288 by prime

factorisation method.

° Watch Video Solution

2. The floor of a room 9 mx 6.75 m is to be paved by
square marble slabs. Find the maximum size of each

slab,

° Watch Video Solution

3. Replace the $ by the smallest number, so that (i)

785964 may be divisible by 9. (ii) 75$ may be divisible by


https://dl.doubtnut.com/l/_r2IIOxixFxFd
https://dl.doubtnut.com/l/_8aJNpNMmSMHe
https://dl.doubtnut.com/l/_8zo5COlicPSX

4. (iii) 25345 may be divisible by 3.

° Watch Video Solution

4. Using properties of divisibility, check whether 1500 is

divisible by 30? Also state the property used

° Watch Video Solution

Exercise Subjective Problems Integer Numerical Value

Type

1. What is the HCF of 12, 18, 21?

° Watch Video Solution



https://dl.doubtnut.com/l/_8zo5COlicPSX
https://dl.doubtnut.com/l/_heJWpY85b4v4
https://dl.doubtnut.com/l/_jDGjWr19GCzC

2. What should be the last digit of the given number so

that the number is divisible by 10?

° Watch Video Solution

3. What is the smallest even composite number?

° Watch Video Solution

4.If the nth multiple of 5 is 125. Find the value of n.

° Watch Video Solution



https://dl.doubtnut.com/l/_jDGjWr19GCzC
https://dl.doubtnut.com/l/_UUYanNU9W8F3
https://dl.doubtnut.com/l/_nCXSYxTlkD9I
https://dl.doubtnut.com/l/_bhcUWHo08FIZ
https://dl.doubtnut.com/l/_aBF4KyNgwcUR

5. Find the missing digit to make 156 9 divisible by 117

o Watch Video Solution

6. What is the product of the digits of the number

which is 16 more than the HCF of 12 and 144?

° Watch Video Solution

7. What will be the ones place digit of largest prime

number less than 30?

° Watch Video Solution



https://dl.doubtnut.com/l/_aBF4KyNgwcUR
https://dl.doubtnut.com/l/_FXxee7NZCpxQ
https://dl.doubtnut.com/l/_CRkX0F4xhqlf
https://dl.doubtnut.com/l/_Z9zaYOr3dZZV

8. What should be the difference of two prime

examples. numbers so that the pair is twin prime?

° Watch Video Solution

9. What is the highest common prime factor of 66 and

1217

° Watch Video Solution

Olympiad Hots Corner



https://dl.doubtnut.com/l/_Z9zaYOr3dZZV
https://dl.doubtnut.com/l/_M3saXSxDoFcw

1. Find the greatest number from the options that will

divide 1025, 1299 and 1575 leaving remainders 5, 7 and

11 respectively.

A.70

B.78

C. 68

D. 98

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qhVEeEjTbzMf

2. Consider the following statements : L. Every prime

number is odd. Il. Product of any two prime numbers is

odd. Which of the given statement(s) is/are correct?

A.lonly

B. 1l only

C.land Il

D. Neither I nor Il

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZajIDzQTIDTa

3. Number of primes between 16 to 80 and 90 to 100 is

A. 20

B.18

C.17

D. 16

Answer:

° Watch Video Solution

4. Deepika has more than 30 stickers but less than 40

stickers. She can pack the stickers into packs of 2,3 or 4


https://dl.doubtnut.com/l/_FeU51PwmGVCC
https://dl.doubtnut.com/l/_nJtAV1nud9Hu

without leaving any sticker. How many stickers does

she have?

A. 36

B.37

C.33

D. 39

Answer:

O Watch Video Solution

5. Two ropes 16 m and 20 m long are to be cut into

small pieces of equal lengths. What will be the


https://dl.doubtnut.com/l/_nJtAV1nud9Hu
https://dl.doubtnut.com/l/_y1tmymxELNqE

maximum length of each piece?

A.5m

B.4m

C.7m

D.10m

Answer:

° Watch Video Solution

6. Select the incorrect statement.


https://dl.doubtnut.com/l/_y1tmymxELNqE
https://dl.doubtnut.com/l/_2nyYNuI1NBPP

A. The greatest number that exactly divides 63 and
84 is 21.

B. A factor of a number is an exact divisor of that
number.

C.The smallest number that is exactly divisible by
12,14,18,22 is 2.

D. A number divisible by two co-prime numbers is

divisible by their product also.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2nyYNuI1NBPP

7. Study the given statements carefully and select the
correct option.
Statement-l: A natural number is divisible by 8, if the
number formed by last three digits is divisible by 8.
Statement-Il: 987648 is divisible by 8.

A. Both Statement-l and Statement-ll are true.

B. Both Statement-l and Statement-Il are false.

C. Statement-l is true but Statement-ll is false.

D. Statement-l is false but Statement-ll is true.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_aNc5ev7WRq2m

8. If the product of two numbers is 1728 and their HCF

is 12, then their LCM is__

A. 156

B. 144

C. 256

D.172

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YXdXWIGrd1uW

9. Which of the following numbers is completely

divisible by 9?

A. 596348

B. 965864

C. 695844

D. 746936

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_VwxkMJZshx4C

10. In a colony of 100 blocks of flats numbering 1 to 100,
a school van stops at every sixth block while a school
bus stops at every tenth block. On which stops will
both of them stop if they start from the entrance of
the colony?

A5

B.3

C.15

D. 30

Answer:

0 Watch Video Solution



https://dl.doubtnut.com/l/_h8qdaJ47bYPW

11. A number is always divisible by 180, if

A. It is divisible by both 45 and 2.

B. It is divisible by both 36 and 5.

C. It is divisible by both 18 and 30.

D. all of these

Answer:

o Watch Video Solution

12. Study the given statements carefully. State T for

true and 'F' for false and select the correct option.


https://dl.doubtnut.com/l/_md1PZIdf7U7E
https://dl.doubtnut.com/l/_sLnwVPLIJcXC

(i) If a number is a factor of each of the given two
numbers, then it must be factor of their a difference.
(ii) If a number is divisible by another number, then it
must be divisible by each of the factors of that number.
(iii) If a number is divisible by another number, then it
is also divisible by all the multiples of that number.
(iv)No prime number other than 2 is even but every

odd number is necessarily a prime number.

ATFTF

B.TTFF

C.FTFT

D.FFFF

Answer:


https://dl.doubtnut.com/l/_sLnwVPLIJcXC

° Watch Video Solution

13. If the number 517-324 is exactly divisible by 3, then

the smallest whole number in place of - will be

A.0

B.1

C.2

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sLnwVPLIJcXC
https://dl.doubtnut.com/l/_LBmVzTxsjSBA
https://dl.doubtnut.com/l/_oNEnRWvXIfRE

14. The HCF of an even number and an odd number is 1

(b) 2 (c) 0 (d) non-existant

AT

B.O

C.2

D. Can't say

Answer:

o Watch Video Solution

15. The greatest number that exactly divides 105, 1001

and 2436is (a) 3 (b) 7 (c) 11 (d) 21


https://dl.doubtnut.com/l/_oNEnRWvXIfRE
https://dl.doubtnut.com/l/_jW4Q4qCvn5Kc

A3

B.7

C. 1

D. 21

Answer:

° Watch Video Solution

16. Three bells ring at intervals of 30, 45 and 60
minutes respectively. If they begin ringing together at

5 p.m., then they will ring together again at___

o Watch Video Solution



https://dl.doubtnut.com/l/_jW4Q4qCvn5Kc
https://dl.doubtnut.com/l/_jVQINKexkWnx

17. Study the statements carefully and select the
correct option..
Statement I: Any number is divisible by 5, if the sum of
the digits of the number is divisible by 5.
Statement |l: Any number is divisible by 6, if it is
divisible by either 2 or 3 or both 2 and 3.

A. Both Statement | and Statement Il are true.

B. Both Statement | and Statement Il are false.

C. Statement | is true but Statement Il is false.

D. Statement | is false and Statement Il is true.

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_fIfRuipYKP4q

18. Find the least number which on adding 9 to it

becomes exactly divisible by 15, 25, 30 and 45.

A.410

B. 450

C. 380

D. 441

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fIfRuipYKP4q
https://dl.doubtnut.com/l/_TLLdrCmyInQi

